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Find the value of Fisher’s Index Number based on the following data 14
Commodity Year-2009 Year-2010
Price(Rs.) Qty.(Kg.) Price(Rs.) Qty.(Kg.)
A 20 08 40 06
B 50 10 60 05
C 40 15 50 15
D 20 20 20 25
Calculate the value of the co-efficient of correlation by using the 07
given data:
Rank in Interview 214 [3]7]9]1]5/8]6
Rank in Performance 312 |6]5]9]1]7/8]4
Explain the types of Skewness. 07
OR
Distinguish between Primary and Secondary data. 07
Find the value of Standard Deviation based on the following data: 07
169 |66 |67 |69 |64 |63 |65 |68 [72 |
Interpret: Wherer=0, r=1and r=-1. 07
OR
Explain the cost of Living Index Number. 07
Define: (1) Index Number (I) (2) Weightage (W) 07
Explain the Linear Regression. 07
Find the value of Quartile Deviation based on the following 07
frequency distribution:
Classes 0-50 | 50-100 | 100-150 150-200 200-250
Frequencies 25 40 80 30 25
OR
Describe the merits and demerits of Range. 07
Find the value of coefficient of Range by using the following data: 07
Marks obtained 20-30 30-40 40-50 | 50-60 60-70
No. of Students 06 12 15 58 05
Explain the characteristic of the Index Number. 07
Find the value of coefficient of mean deviation by using the 07
following data:
191 [120 100 [ 94 | 114|105 | 111
OR
Explain the Law of Probability. 07
Distinguish between Permutation and Combination. 07
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